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QUESTION 1

A company decides to do canary releases for some new functionality. What is a description of a canary release?
A. Releasing to a limited number of users, before releasing it to all users

B. Switching users from interacting with one release to the next within seconds

C. Test business hypotheses by having half of the users switch to a new release

Correct Answer: A

Reference: https://www.modernanalyst.com/Careers/InterviewQuestions/tabid/128/ID/5041/What-is-acanary-release-
and-what-are-some-of-the-benefits.aspx

QUESTION 2

What should be taken into account most when prioritizing tasks according to DevOps practices?
A. How long the task has waited

B. How much the team likes the task

C. How much value the task adds

D. How much work the task takes

Correct Answer: C

QUESTION 3

Your team works in three-week iterations and cannot get all the work for a batch done within the iteration. They
frequently encounter bottlenecks.

What is the best reaction of the team after they identify a bottleneck?

A. Discuss with the Product Owner which work can be shifted to another iteration

B. Extend the length of this particular iteration to four weeks to remove the bottleneck
C. Trust that they will solve the bottleneck in the next batch or iteration

Correct Answer: B

QUESTION 4
When will an organization find it difficult to adopt DevOps practices?

A. When many bureaucratic processes are in place, because this causes inflexibility
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B. When microservices are used, because they expand the attack surface
C. When operational complexity is high, because DevOps needs a simple architecture

Correct Answer: A

QUESTION 5

Every team needs information. In DevOps, it is stressed to visualize certain information. Which piece of information
should be made available, so the team has ready access to it?

A. In which step is work accumulating, inhibiting flow?
B. What is management working on right now?
C. Which other projects do not have enough manpower?

Correct Answer: A
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